Tableaux des Puissances de Dix (B)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

5000 50 50 000 500

64

71

63

23

37

0,08 0,008 80 000 80

44

58

33

31

84

0,08 0,0008 0,8 0,008

93

54

62

20

32

70 0,0007 7 000 700

67

12

73

66

98
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Tableaux des Puissances de Dix (B) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 5000 50 50 000 500

64 320 000 3200 3200000 32000
71 355000 3 550 3550000 35500
63 315000 3150 3150 000 31500
23 115000 1150 1150000 11500
37 185000 1850 1850 000 18 500

X 0,08 0,008 80 000 80

44 3,52 0,352 3520000 3520
58 4,64 0,464 4 640 000 4 640

33 2,64 0,264 2 640000 2 640

31 2,48 0,248 2480000 2480
84 6,72 0,672 6720000 6720

+ 0,08 0,0008 0,8 0,008
93 1162,5 116 250 116,25 11 625
54 675 67 500 67,5 6 750
62 775 77 500 77,5 7750
20 250 25000 25 2500
32 400 40 000 40 4000

+ 70 0,0007 7 000 700

67 0,95714286 |5714,2857142| 0,00957143 | 0,09571429
12 0,17142857 |7 142,8571428| 0,00171429 | 0,01714286
73 1,04285714 D4 285,7142857 0,01042857 | 0,10428571
66 0,94285714 |4 285,7142857| 0,00942857 | 0,09428571
98 1,4 140 000 0,014 0,14
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